
TYP.

REF

W-BEAM
SEE PLAN

X-BRIDGING
SEE PLAN

ROOF JOIST
SEE PLAN

HORIZONTAL BRIDGING
SEE PLAN

ROOF DECK
SEE PLAN

CONT. L3x3x¼

SEE PLAN

REF

W-BEAM 
(SEE PLAN)

TOP OF ROOF DECK
6TH FLOOR

W BM
(SEE PLAN)

L2x2x1/4
(TYP EA SIDE)

SEE PLAN SEE PLAN

HSS POST (SEE PLAN)
COORD. PLACEMENT W/ 
ARCH. DWGS.

1/2"Ø HEADED STUDS WELDED TO HSS
(3 " FROM EA END & EQUALLY SPACED,
18" O.C. MAX)

2x4 P.T. NAILER (EA SIDE)

1/4" CAP PL (SEALWELD
ALL AROUND)

PL 3/4"x6"x1'-0" W/
4- 3/4"Ø A325 BOLTS

3/8" FITTED STIFF
PLATE (EA SIDE)

S
E
E
 A

R
C
H
. 
D

W
G

S
.

7
'-
0

" 
(M

A
X
)

3 SIDES
(TYP)

NOTE:
GALVANIZE ALL EXPOSED 
STEEL AFTER FABRICATION.

1'
-6

" 
(M

IN
)

1"

L7x4x3/8 LLH W/ 2-1/2"Ø
BOLTS (TYP FOR 3 GIRTS)

3 SIDES

S
E
E
 A

R
C
H
 D

W
G

S
.

7
'-
0

" 
(M

A
X
)

WT (8" LG)

HSS 3"ø STD PIPE 
POST. COORD. W/ 
ARCH. DWGS.

W BM (SEE PLAN)

HSS 4x4x5/16 
POST. 
COORD. W/ 
ARCH. DWGS.

3/4" PL W/ 4-3/4"Ø
BOLTS (TYP)

3'-0"

DOUBLE ANGLE L3x3x5/16 KICKER

3/8" FITTED STIFF PL
( EA SIDE)

3/8" FITTED STIFF PL
( EA SIDE)

TOP OF ROOF DECK

C4x7.2 GIRT (TYP)

6"

PL 6"x8" (THK TO
MATCH WT WEB THK)

ROOF TOP SCREENROOF TOP SCREENROOF TOP SCREENROOF TOP SCREEN

S
E
E
 A

R
C
H
. 
D

W
G

S
.

2
'-
6
" 
(M

IN
)

1

1

4
"

NOTE:
GALVANIZE ALL EXPOSED 
STEEL AFTER FABRICATION.

PRECAST - SEE
ARCH. DWGS.

REF

NOTE:
COORD. BOT. OF RELIEVING
ANGLE W/ ARCH DWGS

SEE ARCH.

EDGE OF SLABFOR SLAB ELEV. 
THICKNESS & REINF. 
SEE PLAN

NOTE:  SEE PLAN FOR DECK DIRECTION

#5x6'-0" LG. @ 
12" o.c. TOP

1/2" BENT PLATE
W/ 3/4" DIA.  x 6" 
LG. STUDS @ 
2'-0" O.C.  (TYP.)

1-#4 CONT.

2- 3/4" DIA. SC (SLIP CRITICAL) BOLTS (TYP.)

L2 1/2 x 2 1/2 x 1/4" KICKER
AT 4'-0" o.c.

C6x8.2 HANGER @ 4'-0" o.c. MAX. W/ 
VERTICAL SLOTTED HOLES

1/2" FITTED STIFF. PLATE FOR
HANGER W/ HORIZ. SLOTTED HOLES.

L6 x 6 x 5/16" CONT. W/ (GALV.) 
RELIEVING ANGLE. COORD. W/ ARCH. 
DWGS.

PL. 1/2"X 9" W/ 2-3/4" DIA. S.C. 
(SLIP CRITICAL) BOLTS IN HORIZ. 
SLOTTED HOLES

LOOSE LINTEL @
WINDOW HEAD

1/2" PLATE w/VERT. &
HORIZ. SLOTTED
HOLES @ 48" O.C. MAX.

1/2" DIA. ERECTION BOLTS

SLAB ON DECK
- SEE PLAN

JOIST -
SEE PLAN

L1 1/2x1 1/2x1/4
@ EA. JOIST

REF

1/4

1/41/4

AFTER
LEVEL

L6x4x3/8 - LLV
(GALVANIZED)

1/4
TYP

PRECAST- SEE 
ARCH DWGS

BRICK- SEE ARCH 
DWGS

PRECAST - SEE
ARCH. DWGS.

1/2" PLATE w/VERT. &
HORIZ. SLOTTED
HOLES @ 48" O.C. MAX.

1/2" DIA. ERECTION 
BOLTS

SLAB ON DECK
- SEE PLAN

JOIST -
SEE PLAN

L1 1/2x1 1/2x1/4 @ EA. 
JOIST
- KEEP ABOVE CEILING

REF

1/4

1/4

1/4

AFTER
LEVEL

L6x4x3/8 - LLV
(GALVANIZED)

1/4
TYP

1/2" PLATE W/ 2- 3/4" DIA. BOLTS IN 
HORIZ. SLOTTED HOLES- LOCATE PLATES 
@ MULLION LOCATIONS PER ARCH DWGS

SLAB ON DECK
- SEE PLAN

JOIST -
SEE PLAN

L2x2x5/16 
@ EA. JOIST
- NEAREST 
FITTED PL.

REF

1/4

MIN.
6"

3/8" FITTED PL. W/ 2- 3/4" DIA. 
BOLTS IN VERT- SLOTTED HOLES-
LOCATE PLATES @ MULLION 
LOCATIONS PER ARCH DWGS

1/4

AFTER
ADJUSTMENT

SUNSHADE -SEE ARCH. DWGS.

3/8" PL.

1/4
TYP

1/2" PLATE W/ 2- 3/4" DIA. BOLTS IN 
HORIZ. SLOTTED HOLES- LOCATE PLATES 
@ MULLION LOCATIONS PER ARCH DWGS

SLAB ON DECK
- SEE PLAN

L2x2x5/16 @ 
EA. FITTED PL.

REF

1/4

MIN.
6"

3/8" FITTED PL. W/ 2- 3/4" DIA. 
BOLTS IN VERT- SLOTTED HOLES-
LOCATE PLATES @ MULLION 
LOCATIONS PER ARCH DWGS

1/4

AFTER
ADJUSTMENT

SUNSHADE -SEE ARCH. DWGS.

3/8" PL.

1/4
TYP

1/4

1/4
TYP

B

 
4
"

ROOF DECK 
SEE PLAN

ROOF DECK 
SEE PLAN

2- 3/4" DIA. BOLTS (TYP.)

1/2"X2 1/2" PLATE EA 
SIDE OF FITTED PLATE

3/8" FITTED PLATE

WF BEAM SEE PLAN

SEE PLAN

L3x3x5/16

1/4 4-12

5/16
TYP

ROOF TOP SCREENROOF TOP SCREENROOF TOP SCREENROOF TOP SCREEN

NOTE:
FOR INFORMATION NOT 
SHOWN SEE SECTION 3/S5.02

COORD. W/ ARCH. DWGS.

5'-0" ± 3'-0"

TYP

2- L4x4x3/8

3/8" PL. W/ 2- 3/4" 
DIA. BOLTS AT EA. 
END

NOTE:
GALVANIZE ALL EXPOSED 
STEEL AFTER FABRICATION.

DWGS.

SEE ARCH.

JOIST -
SEE PLAN

L3x3x5/16 @
48" O.C. MAX.

REF

1/4
TYP.

BRICK - SEE
ARCH. DWGS.

LOOSE LINTEL @
WINDOW HEAD

1/2" PLATE w/VERT. &
HORIZ. SLOTTED
HOLES @ 48" O.C. MAX.

1/2" DIA. ERECTION BOLTS

SLAB ON DECK
- SEE PLAN

1/4

1/41/4

AFTER
LEVEL

L6x4x3/8 - LLV
(GALVANIZED)

1/4
TYP.

5/8" TYP.

L

No. 9477

DEICEN S

A L
NG

I N
E

E
R

F

E S
S

NI O
O

R
P

E

RIMANTAS

M.

VEITAS

S
T

AT E O F
AM

I

E
N

4
8
 U

n
io

n
 W

h
ar

f 
  
P

o
rt

la
n
d
, 
M

ai
n
e 

0
4
1
0
1

(2
0
7
) 

7
7
2
-6

0
2

2
  
  
F

ax
 (

2
0
7

) 
7

7
2
-4

0
5
6

D
at

e:
S

ca
le

:
P

ro
je

ct
:

A
rc

h
it

ec
t:

C
o
n

su
lt

an
t:

P
re

p
ar

ed
 F

o
r:

R
ev

is
io

n
s:

P
.O

. 
B

o
x
 3

9
4

T
o
p
sf

ie
ld

, 
M

A
 0

1
9
8
3

A
s 

in
d

ic
at

ed

S5.02

S
E

C
T

IO
N

S

JU
L

Y
 2

0
1

7
T

H
A

M
E

S
 S

T
R

E
E

T
C

O
N

D
O

M
IN

IU
M

2
0
 T

h
am

es
 S

tr
ee

t,
 P

o
rt

la
n
d

 M
ai

n
e

E
ss

ex
N

o
rt

h

P
o
rt

la
n
d

 L
L

C

SECTION
 3/4" = 1'-0"S5.02

5

SECTION
 3/4" = 1'-0"S5.02

1

SECTION
 1" = 1'-0"S5.02

3

SECTION
 3/4" = 1'-0"S5.02

4

SECTION
 3/4" = 1'-0"S5.02

6

SECTION
 3/4" = 1'-0"S5.02

7 SECTION
 1" = 1'-0"S5.02

8

SECTION
 1" = 1'-0"S5.02

9 SECTION
 1" = 1'-0"S5.02

10 SECTION
 1" = 1'-0"S5.02

11

NOTE USEDNOTE USEDNOTE USEDNOTE USED

SECTION
 3/4" = 1'-0"S5.02

12

1
0
6
/3

0
/ 1

7
S

te
el

 B
id

 -
 A

d
d
en

d
u
m

 #
1

2
0
7
/2

1
/ 1

7
B

ID
 S

E
T

4
0
8
/1

5
/ 1

7
A

d
d
en

d
u
m

 #
2

6
0
9
/0

7
/ 1

7
R

ev
is

i o
n
s

7
0
9
/1

5
/ 1

7
R

ev
is

i o
n
s


